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The idea What is the algebraic structure of loops B in the

complement of a single loop A ?

a+a = 2a

a- a = 0

RA=?



The idea What is the algebraic structure of loops B in the

complement of a single loop A ?

a+a = 2a

a- a = 0

#(A = S'vS2

# (S-S2)=



The idea What is the algebraic structure of loops Cin the

complement of two unlinked loops A and B ?

abab"#1

R3 \(AvB) =?



The idea What is the algebraic structure of loops Cin the

complement of two unlinked loops A and B ?

abab"#1

#\(AvB) = S:SiSigh

#
,
(SiSivS2S4) = Xa

, b)=*2



The idea What is the algebraic structure of loops Cin the

complement of two linked loops A and B ?

aba"b" = 1

#\(AvB) = torus -S2
# (torus ~ S2) = Xa

, blababy=* 2



Section 1
.

1 Basic constructions

A path is a map 5 : 1 + X

A homotopy of paths is a homotopy ftl-X rel50, 13 .

We sayfo and f. are homotopic ,
denoted fo f

,

or [fo] = [fi) since this is an equivalence relation
.

The product of paths f, g
:+X

with f(l) = g(o) is defined by
·

The product respects homotopy classes.



Path f :l+ X is a loop if flo)= ro = -(1) ·
The set of all homotopy classes of loops based at No ·is denotedT

,
(X

, ro).

Proposition 1
.
3 #T

,
(X

,
No) is a group with respect

to the product [f] · [g] = [f . g] ·

Pf See how Hatcher uses reparametrizations to prove associativity ,
identity.

(f . g) . h Inverses : F :I+X by 5(s)= f(l-s).
f

2xo = 2 f(0)

2 f(v/6)

2 f (2/6)

ef()(b)

2f(4(b)

s . 19 . h)
% +

f * E



The fundamental group of the circle
We prove I

.
(5)= & using covering spaces.

Def (page 56) A covering space of X is a space
together with a map p:-X such that
· there is an open cover [Ur] of X S.

t
.

Vt,

p (Ud) is a disjoint union of open sets in X
each mapped homeomorphically ontoNo by p. ·
Def (page 60) A lift of a map 5 : -X
is a map 5 : V+ * with pF= f

.

F Up Un

Y=X



Prop 1
.

30 Given a covering space p : X-X,

(Fa homotopy ft : X-X
,
and a lift Fox-Y

offo
,
there exists a unique homotopy FtY+*

that lifts foo

Ex Y= pt = 503 (path lifting) Ex Y=I Chomotopy lifting)

& ↑
·E ·

Fo
7 ! Fo Lo ↑

Fo
7 ! Fo Lo

Y E C. X Y
·

E X
Pf idea Unique lifts over an open set exist by the homeomorphism property (. ).

Piecing these together takes a page in Hatcher.



Thm 1
.
7:-, (s) via #(n)= [rn]

,

where R
Wn(s)= (cos2ins

,
sinZins)

,
is an isomorphism.

LoPf Note Wn : IwIR via Wn(s)= ns

lifts Wn : It S' (since pin= Wn) · si

Note #(n)= [Wn] = [pi] = [pE) for any path F in IR -& I

from O to n (since F= W by a linear homotopy) .

It is a homomorphism It is injective fo fi

Let [milR->R translate [m(x)= m+N · Suppose E(m)= E(n), so him Win
.

Note Wm · (ImWn) is a path in IR from O to man By Prop 1
.30 Chomotopy lifting) 7 lift Ft :+R

.

So #(m+n) = [p (wmo([mWn))] = [Wm · Wn] = E (m) · I (n)
· NecessarilyFt(0)= 0 Xt and

-

Fx(l)= pet Xt
.

By uniqueness of path lifting ,
fo = Em and F

-
= Fin.

I is surjective Hence m = Em(1) = En (1) = n .

Let f: Its' be a loop based at(1, 0)
· ptzX

S = 1

By Prop 1 .
30 (path lifting) 7! lift F : ItR with F(0)= 0

.

Necessarily F.
(1)= n for some neI

, giving(n) = [p)= [f) .

Wm Wn < R
S= 0

t=0
0

+= 1



Applications of N
. (S)=

Thm 1 .
8 Every nonconstant polynomial has a root in K

.

Thm 1 .
9 n = 2 case of Brouwer fixed point theorem (Cor2

.
15) :

"Every map hiD"- Dh has a fixed point : h(x)= 2
.

"

Thm 1 .
10 n = 2 case of Borsuk-Ulam theorem (Cor2B

.
7) :

"Every map f: S"-RR" identifies some antipodal pair : f(x)= f(x) .

"

Cor 1
.

11 n = 2 case of : =-----.g2

"If s" is the union of nt closed sets,

then some set contains an antipodal pair Ex,
-23

.

"
T ↓ f

Cor 1
. 16 n =2 case of Invariance of Dimension (Thm 2

. 26) :

"R * R" for n + m
.

" pressure R
temperature

Prop 1
.

12 it
, (X +Y) = H

,
(X) = i

,
(X)

Ex 1
.
13 #

,
(S'xs) = X +I

# ((s)n) = In ↳p



Induced homomorphisms -D
· ·G

Def A map 4 : (X
,
xo)- (Y

, yo) induces a group homomorphism
U*:, (X ,

vo)->, (X, yo) by 4* /[+]) = [c7] .
↑

4 ([f) · [g])= [4(f · g)= [47 · ng) = 4= ([+)) · 4= (5g))

well-defined since fo f, via f > 4to = yf , via left

Functor it
,

is a functor (see S2
. 3) since

· (4y)* = 4* Y* for a composition (X
.
20)# (Y

, yo)# (E
,

z0)
·

= 1
,

i
.
l

.,
1 : X+ X induces 1: (X,)- #

,
(X,)·

Prop 1
.

18 If U : X+ Y is a homotopy equivalence,
then 4:, (X,

20)-> I
, (Y, +(d) is an isomorphism .



Section 1
.

2 Van Kampen's theorem Carbitrary unions

No

~
U

D-

-
Y= torus Z = graph



RECALL The Seifert-ran Kampen theorem (Two set version
,
from Munkres .)

Thm (Seifert-van Kampen) Let X= U-V with U
,
V open in X,

with U, V
,
UeV path-connected, and NotUeV. Then the homomorphism
: #,

(U
,2) * i, (V, 20) -> It,

(X
,
20)

is surjective, and its kernel N is the least normal subgroup containing
all words of the form in/w)"ir(w) for wer (UIV, No) ·
HenceH, (X)= (H, (u)*(v) /N. In1 (h) ju

&
No i

,
(U+v) = w

= H , (x)~ in
Sitiv) in

# (k) =<0 , % ,) N
, (V) = 1 B

, Br,Ba) , (UV) = (w)

# (X)= (d
,
da

,
da

,
Bi

,
Br

,
By / in(w) ir(w) Note in (w) = &3 and ir(w)= Bs

=&
,

de
,
da

, Bi , Be, Bs) &BaY
=> [01

,
de

, Bi , Ba
,
w]



As As

As
Section 1

.

2 Van Kampen's theorem Carbitrary unions Ar

Thm 1
.
20 Let X= UoAd S .

t
.
each Ar is open, I For 90 ,%E,

(Ad)
, gre (As), gre(Au), (path-connected, and contains No. #/gogggr) = jolga) ip(ga) jo (5) ju(9r)

· If each AovAs is path-connected,
then (A)

(E:T, (Ad-> #
,
(x) (defined using the ja) is surjective · ~

· If furthermore each AovAovAr is path-connected, iT
,
/AdAn i,

(x)
then Ker(t) is the normal subgroup generated by
all elements iog(w) igo(w)" for we

. (AorAs) · inte (A) to
Ex Write X as union of 5 open Non-Ex To see the triple intersection

sets each containing the bold assumption is necessary,
consider

tree and one extra edge .
An = X1dab

,
Ap = X15b3

,
Ar = X15c3.

Double
,
triple intersections path-connected .

Double intersections contractible => Ker(t) trivial.

So I gives an isomorphism It
,
(x)=* Hi(A)= *EX

.

(To get therightanswer



Applications to cell complexes

Y obtained from path-connected X by attaching
2cells es via 40 : S+X

.

Fix ZoeX
.

Choose paths ro to imagelled .

Let NETT
,
(X

,
20) be normal subgroup generated by all Colora.

Prop 1
.

26

(a) X- Y induces a surjection.
(X

, 20)->.
(X

, yo)
with Kernel N

,
so n (Y)= +

,
(X)/N

·

(b) If instead y were obtained by attaching n-cells for some >2,
then XcoY induces an isomorphism It. (X)=. (X) ·

(c) For X a path-connected CW complex
,
the inclusion

*cX induces an isomorphism it
,
(X4 = H, (X) .

Rmk Choice of pathNo doesn't matter
,

since a

different path no gives a conjugate element
No Hou = Mov Wo Not Wond .



Pf (a)
Let Z = X- Erectangular strips3 = Y

.

Choose you et .

Note A =z- VoSyc3 = X and B= z-X = *

are open path-connected sets with union Z
.

Note AnB= VoS' with it, (AnB) generated
Cloosely speaking) by [NoMata].

Van Kampen's says IT
.
(X) = H, (z) is isomorphic to the quotient of

#, (A),
(X) by the normal subgroup generated by the image of IT

,
(A1B)+ It, (A),

which corresponds to N
.

(b) The only difference with the above proof is ArB = voS"
,
with n > 2

.

So H,
(AnB) is trivial and van Kampen's gives it

.
(Y)= +

, (z)[ ,
(A)= , (X) ·

van Kampen



(c) If X is finite-dimensional (X=X"for some n)
,

then (c) follows from (b) and induction
.

(Add on 3-cells
,
then 4-cells

,
etc.)

Otherwise
,
let f :I-X be a loop based at woeX?

[m(5) is compact and hence lives in a finite subcomplex
of X by Proposition A.

l
,

and hence in X" for some n.

Since #T
, (X)-> #, (X) is surjective by (b),

f is homotopic to a loop in X 2.

So it
,
(X2)-> H

,
(x) is surjective·

To see it is also injective, suppose f is a loop in X
which is nullhomotopic in X via a nullhomotopy F: IXI+X.

[m(F) is compact, hence lies in X" for some n = 2
.

Since #T
, (X)+, (X") is injective by (b),

it follows that f is nullhomotopic in X2.



Corollary For
every group G there is a

-

2dimensional CW complex X a with it
.
(Xa)= G

Pf Choose a presentation G = < go/rp)
,

which exists since every group is a

quotient of a free group.

Construct XG from VoSd by attaching 2-cells e
via loops specified by the words VB.

Ex G = F/nI


